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DS PSR, 29,875,800 21,664,213 8,211,587
= 11,652,800
= 12,401,000
= 96,000
= 5,726,000
ASEM=d 13,572,440 16,067,240 A2,494,800
= 13,800
& 10,201,000
= 3,357,640
ANEBH 243t 245,500 248,100 A2,600
ZH, 02, 0UX SRF 85 125,500 118,100 7,400
201 2Bt 73,000 63,000 10,000
01 Atz 68,000 58,000 10,000
OAHITH MRS 2E S 68,000
03 A2l 5,000 5,000 0
OFMZE #HA S 5,000
202 O 3,000 3,000 0
01 2LHoit 3,000 3,000 0
OZMEH 257 3,000
203 YR =& 41,000 43,600 A2,600
03 AMH=XHRFAH] 41,000 43,600 22,600
OXNS3MEdstAHF=a 25,000
O A A HET 12,000
OZHEHALEZ 4.000
301 LEtEH= 8,500 8,500 0
10 SAAHIS A3 8,500 8,500 0
O3 H&d dAAHIEa = 8,500
JHIEHNLES 120,000 130,000 A 10,000
307 2ztold 120,000 40,000 80,000
02 BIAAHEX 100,000 0 100,000
Od=dMus 50,000
OB+ Y 50,000
04 QIZSAIEE 20,000 40,000 £20,000
OB E2 L XIS 15,000
OSHIMEE 5,000
SEMY L Y XA 10,826,940 13,289, 140 A2,462,200
2 13,800
= 10,201,000
& 612,140
HEAMNTAE St 9,301,000 12,825,000 23,524,000
& 9,301,000
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403 RXISHSKHZO0|H 9,301,000 12,825,000 3,524,000
= 9,301,000
01 XIXICHH X2 X 9,301,000 12,825,000 3,524,000
OFEAE AlLES 9,301,000
3 9,301,000
HSAY YU N 400,000 400,000 0
403 REXISHSKHZO0|H 400,000 400,000 0
01 XXICHHA2EE 400,000 400,000 0
OHSANZILEUS L LAAMSAIZXS 400,000
HEAT 22 N 45,000 35,000 10,000
307 212+0| 35,000 35,000 0
04 DIZHHAIEE 35,000 35,000 0
OXSAE 243 XA 35,000
308 XHXISHH SO 10,000 0 10,000
01 UXSHBASE 10,000 0 10,000
ODHYLO| #A KB (&S, &) 10,000
SOIOHE U ZENYEAN =HE 29,140 29,140 0
201 Y2 Y| 7,700 7,700 0
01 AFR2r2/Hl 7,700 7,700 0
ORWAN 448 7,700
206 T2 2,000 2,000 0
01 M2l 2,000 2,000 0
OAZTAILE A2 2,000
308 XHXISHH SO 19,440 19,440 0
R ERES) 19,440 19,440 0
OSIEA 2UERY 29 19,440
EUC AHNESHE 29 16,800 0 16,800
=2 13,800
= 3,000
301 LorEAD 16,800 0 16,800
=2 13,800
= 3,000
12 JIEHB A2 16,800 0 16,800
ORI MAILX 21| 13,800
= 13,800
O22X AP 3,000
ZARECHSRHE 2HE 1,035,000 0 1,035,000
=l 900,000
= 135,000
403 RXISHS K20 H 1,035,000 0 1,035,000
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SRET 86,400
= 86,400
o8z S JlIE 9,600
= 9,600
CARNE 2 DE XE 683,000 238,000 445,000
= 70,000
< 613,000
307 ©I2H0IH 683,000 238,000 445,000
= 70,000
= 613,000
02 BIHFABE 555,000 110,000 445,000
OLSX8 o 2H2ZX X 55,000
OBY JISE23 NASANES 10,000
OLS4EL2Y 50,000
ORHI2ZNAE FStAY MY 300,000
OLANQIFTEL A 82185t 140,000
= 70,000
= 70,000
04 BIZFEHAIE X 128,000 128,000 0
OZEXolg A 9,000, 000! 2t A 18,000
Ol At8te SIOFSCHAITHE 5,000,0008 *2Et | 10,000
OBIEALZX L51E 20,000
O A 8H0HE 8 AL 80,000
JIsZIIUE X8 450,000 400,000 50,000
307 ©I2t0IM 450,000 400,000 50,000
05 BI2tRIEt3 450,000 400,000 50,000
OXZUMHE L H2HS R 450,000
uxtel BE I S 4,688,000 1,660,000 3,028,000
= 1,804,000
z 2,200,000
, = 684,000
A=A22R X 20,000 20,000 0
308 XiXlEHHISOIH 20,000 20,000 0
01 MHXESHBARES 20,000 20,000 0
OB HEH 2
10,000, 0009 %274 £ 20,000
FMPoT 2 X 25,000 25,000 0
308 XXl EHHISOI& 25,000 25,000 0
01 HXSHHBAEES 25,000 25,000 0
Oxlguras| Ha 5,000, 0002 *50H Al 2 25,000
UEH IS0l 100,000 540,000 440,000
400 QI2tXH2 01 H 100,000 0 100,000
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01 SIAGEEX 100,000 0 100,000
OAMEEDIIY 54 100,000

Aoy nE28x3 A& 2,365,000 1,075,000 1,290,000
& 2,200,000
= 165,000

308 AUXIHMSOIA 2,365,000 1,075,000 1,290,000
= 2,200,000
& 165,000

01 AXNSMBELNEES 2,365,000 1,075,000 1,290,000
oXgdlyg Ngexa 2,365,000
= 2,200,000
& 165,000

S3II2ACEH 23 2,178,000 0 2,178,000
= 1,804,000
= 374,000

101 elH| 748,000 0 748,000
= 374,000
& 374,000

04 JIZtMZ22XsSE+ 748,000 0 748,000
o337 el 29 748,000
= 374,000
& 374,000

308 Xt XICHHI SOIH 1,430,000 0 1,430,000
= 1,430,000

01 MAXESMBLEEXS 1,430,000 0 1,430,000
Os3J12 el 2¢ 1,430,000
= 1,430,000

OUX =28 2 IHEsY 9,187,000 682,000 8,505,000
= 9,089,000
= 98,000

OIHXIOHE ¥ =ZotE = 9,187,000 682,000 8,505,000
= 9,089,000
& 98,000

uEX 22 ¥ U= 90,000 70,000 20,000
= 90,000

201 LBt 68,400 48,400 20,000
= 68,400

01 AtE222/Hl 68,400 48,400 20,000
OuuX 4323 /€W 600,000&+62! 3,600
= 3,600
OMUXEY ns ¥ 82 64,800
= 64,800

202 (4 Hl 12,000 12,000 0
= 12,000
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Ol &k
03 =2 A0l 12,000 12,000 0
OXNGUUHX SESPH el 12,000
= 12,000
308 XX HHSO0IA 9,600 9,600 0
= 9,600
01 AXSMBAEEXS 9,600 9,600 0
ONUXl g2 AW (160HAIZ)
600,000& 162! 9,600
= 9,600
lEXl== Jlgt =4 152,000 212,000 A 60,000
= 77,000
& 75,000
201 LBt 3| 5,000 5,000 0
01 AtE222|H] 5,000 5,000 0
OJtAtd g2 S HE 4,000
O&SHNE SELA AlI278 500,000& 23] 1,000
207 AN Y| 20,000 20,000 0
01 A= S| 20,000 20,000 0
OZ AL SSHIE &M4EAHA 20,000
307 212t01& 50,000 0 50,000
04 CIZFHAE X 50,000 0 50,000
OFR-AR SetZHATLHRI 50,000
308 MXIHHMSOIA 77,000 0 77,000
= 77,000
01 AXSMBAEEXS 77,000 0 77,000
OtHeto S H S0 S LA LI MEHAEH T 77,000
= 77,000
KNS UHXAFS 8,785,000 400,000 8,385,000
= 8,785,000
403 XXISHHSA=01H 8,785,000 400,000 8,385,000
= 8,785,000
01 AXEMA=2E =R 8,785,000 400,000 8,385,000
OLEDNEXNSSEZ(7TMAIZ) 1,013,000
= 1,013,000
OLEDItZ S E24MAIZ) 1,051,000
= 1,051,000
OFHALEDEZHEES(5MAIZ) 1,286,000
= 1,286,000
OLEDECHS (ZZE )22 (34 ET) 868,000
= 868,000
ONzsSANAHARS(HCHHE) 1,457,000
= 1,457,000
ONs88II7E=2S(THAIZ 3,110,000
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| = 3,110,000
sHEMIISSKE 160,000 0 160,000
= 137,000
= 23,000
403 A XIEHSXH=01H 160,000 0 160,000
= 137,000
= 23,000
01 TUXIEMAZE = 160,000 0 160,000
Os0E HJIIE= 182,857,000 »87.5% 160,000
= 137,000
S 23,000
HH2IZH(IME D) 148,060 137,280 10,780
&l 136,780 127,080 9,700
F= 22|l 136,780 127,080 9,700
201 Bt 65,000 65,000 0
01 AtR22iHl 64,000 64,000 0
OZHEHALEZ 64,000
02 33234l 1,000 1,000 0
02223 ¥ AA 1,000
202 01l 71,780 62,080 9,700
01 2L 71,780 62,080 9,700
OFMBHALET 71,780
el 2E 11,280 10,200 1,080
I 22dgR=8| 6,600 6,000 600
203 LR =& 6,600 6,000 600
01 V223 g RFabl 6,600 6,000 600
Oo=& 6,600
FA2EHERFA| 4,680 4,200 480
203 EE =&l 4,680 4,200 480
04 FEA2SERFAHI 4,680 4,200 480
OZRIT M 4,680
saJlYg =54 115,000 165,000 A 50,000
=8 ¥ Jl=s & 115,000 165,000 250,000
HASEASES XN 50,000 100,000 250,000
307 QI12t0l & 50,000 100,000 250,000
02 I2tda2x 50,000 100,000 250,000
OdfielB™eIzsS 50,000
sSMJY SEZE 22 243 N 65,000 65,000 0
307 2iz2told 65,000 65,000 0
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02 2lta3aEx 65,000 65,000
OosaJ1Y g4dst 65,000




